5

10 The current position of a product is shown by X on the product lifecycle diagram.

Sales

Time
According to the diagram:

A sales grew rapidly but the product is now in maturity

B sales grew slowly but the product is now in decline

C the product continues to be highly profitable

D the product is experiencing a rapid decline

Your answer

uk

11 Whatis a benefit to a patient of receiving commumc%@‘@@ospltal doctor by email

rather than by letter?

A Doctors receive conf\l\iltl ﬁ@ i twhe%he@ﬁll &ZW
@Y@q’a\%perlmk? @%Ormatlon about treatments C

Emails save money by reducing stationery, printing, and postal costs D

Multiple medical appointments can be sent out at the same time

Your answer

12 What impacts are a customer boycott most likely to have on a business?
A External growth, reduced profit, increased dividends

B Fewer customers, reduced profit, increased market share C
Improved brand image, more customers, increased profit D

Worsened reputation, lower sales, reduced profit

Your answer

© OCR 2024
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(d)* Evaluate, using the data in Text 3, whether Sam should write a new business plan. [9]

END OF QUESTION PAPER
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\ AT SO secTion A
§ stoN 'Aﬁvﬁ() Marks | Assessment Objective
\N "( Gy A0 O | 1 1b
A - B 1 2
P A C 1 2
4 B 1 la
5 D 1 2
6 C 1 2
7 D 1 2
8 B 1 2
9 C 1 1b
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13 B 1 2 (PS)
14 C 1 2
15 C 1 la




J204/01

Mark Scheme

June 2024

17

(d)

(i)

\?(G

Analyse one advantage for Clarks of using interviews to select
new designers.

Understanding may include:
+ Can assess the candidate’s body language/facial
cues/communication skills/personal presentation/
personality/how they react under pressure

+ Can assess how candidate would fit n%\

@wﬁss/work
in a team

+ Can find out things fr Xn%ate S as knowledge of
the busj nes erlenc

L,}Zecialisms, etc
‘\LN%%E! ndlda&sGs i lﬁ

imilar questions
Very c

gmarket/lots of competitors

. De5|gners create new shoe styles

+ Designers are specialist

» Fast-changing fashion trends

» Ranges for children, women and men

» Designers are central to business success

Analysis may include:

Common analytical comments (which must stem from the reason
stated) include positive impacts on market share, revenue, profit,
competitive advantage, beating the competition, reputation,
efficiency, productivity, customer service, innovation, teamwork,
decision making, etc.

Exemplar responses:

The designers are specialists (APP). Therefore, interviews allow the
interviewer to get answers to detailed questions to better understand
their skills (1) leading to a competitive advantage for Clarks (+1).

They can compare all candidates’ answers to the same questions
(). So they can select a worker who will improve productivity (+1).

ARA

g\‘

i

AO1b 1
AO2 1
AO3a 1l

One mark for an advantage of using ;
interviews to select employees. %
No further marks can be gained without
understanding.

One further mark for application to Clarks.
One further mark for analysis of the

advantage for a business of using
interviews to select new employees.

< 3

NB: Analysis must be business-facing.
NB: No reward for what interviews are.

Do not reward features of method e.g. ‘can see
candidate’/’can ask questions’; advantage for
business of these is required.

Advantage must be for Clarks and NOT the
employee or customer.

NB: ‘designers’ is in the wording of the question.
Take care with APP.

Do not reward ‘find the best person for the job’,
‘find the most suited’ as this is the purpose of all
recruitment and selection methods.

17
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(c)

(i)

\?(G

Analyse one advantage for SJ Salon of each method of
communication.

Weekly team meeting
Understanding may include:
* Can check for understanding/misunderstanding/

attention/inattention ‘\)v
* Supports teamworking

* Improved relationship e‘% and employer
. Motlvatlng/motlvatlonﬁ@ ethj
haeis¥ using bodx‘ar%la?g/famal
e&S‘ers et imm t& |me responses
N A p

Appllcatlon ya
200 customers completed a questionnaire
+ Employ one part-time employee and one full-time employee
* Recruiting two new part-time employees
* Jamila thinks it is more important to keep customers satisfied
» Concerned about the additional competition

Analysis may include:

Common analytical comments (which must stem from the reason
stated) include positive impacts on market share, revenue, profit,
profit margin, avoiding a loss, competitive advantage, reputation,
expansion, efficiency, productivity, customer service, labour
turnover, motivation, etc.

Exemplar responses:

The owners can check everyone understands (1). This will help
increase customer satisfaction (+1), which is very important since
the national hairdresser is about to open a salon in the town (APP).

Enhances employee motivation (1) which could increase customer
service (+1).

4

AO1b 2
AO2 2
AO3a 2

For each method: -
One mark for an advantage for a business %
of using the method.

No further marks can be gained without
understanding.

One further mark for application to SJ

Salon. [APP]
One further mark for analysis of the ;
advantage for a business of the method. @

NB: Analysis must be business-facing.

NB: No reward for what communication is.
No reward for what meetings are.
No reward for what email is.

Do not reward responses that solely refer to
features of the methods e.g. staff meet together,
two-way communication, verbal discussion, can
raise questions, body language, facial
expressions, written record, can get receipts, etc.
The advantage for business of these is required to
award a mark.

Meeting:
Feel valued (0) — advantage to employee rather
than advantage for the business.
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